	[image: image1.png]cbseﬁguess




	http://www.cbseguess.com/



Guess Paper – 2012
Class – XII
Subject – Biology
Time Allowed: 3 Hours
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         Maximum Marks:70
General Instructions:
1. All questions are compulsory.
2. The question paper consists of four sections A, B, C and D. Section-A contains 8 questions of 1 mark each, Section-B contains 10 questions of 2 marks each, Section-C has 9 questions of 3 marks each and Section-D contains 3 questions of 5 marks each.

3. There is no overall choice. However, an internal choice has been provided in one question of 2 marks, one question of 3 marks, and all the three questions of 5 marks weightage. A student has to attempt only one of the alternatives in such questions.

4. Wherever necessary, the diagrams drawn should be neat and properly labeled.

SECTION-A
1.  Comment on the picture.
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2. Menstrual cycles are absent during pregnancy. Why?
3. How are alleles of particular gene different? Explain its significance.
4. Among the five factors that are known to effect Hardy-Weinberg equilibrium, three factors are gene flow, genetic drift and genetic recombination. What are the other two factors?

5. In a nucleus, the number of RNA nucleoside triphosphates is 10 times more than the number of DNA nucleoside triphosphates, still only DNA nucleotides are added during the DNA replication, and not the RNA nucleotides. Why?

6. Between an annual and a perennial plant, which one has a shorter juvenile  phase? Give one reason.

7. Expand GMO. How is it different from a hybrid?
8. What are interferons? How do interferons check infection of new cells?
SECTION-B
9. Is it Possible to achieve ‘zero population growth rate? If yes, what kind of age pyramid is obtained?

10. How do scientists extrapolate the total number of species on Earth?
11.  ELISA technique is based on the principles of antigen and antibody interaction. Can this techique be used in the molecular diagnosis of a genetic disorder, such as phenyketonuria?

OR

 Describe the role of CaCl2 in preparation of competent cells?
12. How do you visualise DNA on an agarose gel?
13. Recall the experiment done by Frederick Griffith. If RNA, instead of DNA was the genetic material, would the heat killed strain of strepts have transformed the R-strain into virulent strain? Explain your answer.

14. A low level of expression of lac operon occurs at all the time. Can you explain the logic behind this phenomena.

15. Why is the frequency of red-green colour blindness is many times higher in males than that in the females?

16. All reproductive tract infections (RTIs) are STDs, but all STDs are not RTIs- Justify with example.

17. Draw the sketches of a zoospore and conidium. Mention two dissimilarities between them and atleast one feature common to both structures.

18. What is Down’s syndrome? Give its symptoms and cause. Why is it that the chances of having a child with Down’s syndrome increases if the age of the mother exceeds forty years?

SECTION-C
19.  Enumerate and describe any five reasons for introducing sex-education to school-going children.
20.  The rate of decomposition of detritus is affected by the abiotic factors like availability of oxygen, pH of the soil substratum, temperature etc. Discuss.

21.  Do you think that the alternate splicing of exons may enable a structural gene to code for several isoproteins from one and the same gene? If yes,how? If not, why so?
22. Comment on the following diagrams: A, B, C. D, G, P, Q, R, S are species
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23.  You have identified a useful gene in a bacteria. Make a flow chart of the steps that you would follow to transfer this gene to a plant.

OR

 What do you understand by the term bio-pesticide? Name and explain the mode of action of a popular bio-pesticide.

24. Starting with the zygote, draw the diagrams of the different stages ofembryo development in a dicot.
25. Flow of energy through various trophic levels in an ecosystem is unidirectional and non cyclic. Explain.
26.  In peas, tallness is dominant over dwarfness, and red colour of flowers isdominant over the white colour. When a tall plant bearing red flowers waspollinated by a dwarf plant bearing white flowers, the different phenotypic groups were obtained in the progeny in numbers mentioned against them.
Tall, Red = 138

Tall, White = 132

Dwarf, Red = 136

Dwarf, White = 128

Mention the genotypes of the two parents and of the types of four offspring.

27.  Represent schematically the life cycle of malarial parasite.
SECTION-D
28.  ‘There is a paternity dispute for a child’. Which technique can solve the problem. Discuss the principle involved.
OR

a. In humans, males are heterogametic and females are homogametic, Explain. Are there any examples where males are homogametic and females are heterogametic?
b. Also describe as to, who determines the sex of an unborn child?

Mention whether temperature has a role in sex determination.

29.  Draw a diagrammatic sketch of biogas plant, and label its various components.





OR

Why do some adolescents start taking drugs. How can the situation be avoided?
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The following diagrams are the age pyramids of different populations.Comment on the status of these populations.
OR

How can you, as an individual, prevent the loss of biodiversity?
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